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QUESTION BOOKLET
This question paper contains 170 questions, /TR TR T F 170 WA ¥ |
All questions are compulsory. | WH 79T A= F |
One question carries half mark only. / TF 797 % A0 e amam 3% ¥ |

Maximum Marks : 85 HTIFAT 37F - 85
Time : 2 Hours T 2T
1. Correlation varies from -1 to

(A) +1 (B) +3 (Cy 0 (D) None of these

HeHay -1 3 asfu=Emg

(A) +1 (B) +3 (C) 0 (D) =74 3 =7 TE
2.  Which s a small test ?

(A) T-test (B) Correlation (C) Probability (D) Error

I T BT YT 8 ?

(A) Tufigm  (B) Hew=y (C) HaAT (D) 7f
3. Null hypothesis 15 expressed by

(A) H, (B) Hy (C) H, (D) None of these

I R G WE T Ee # |

(A) H, (B) H, (C) H, (D) % & i
4.  Regression of X and Y can be expressed by

afamaa X 3 Y wefiia foem s wwan 2

(A) a+b=X-Y (B) X=a+bY

(C) %=a+b (D) None of these / %78 8 =1 7
3. Whl-::h H used to test hypothesis concerning vanance 7

A) ssion (B) Cormrelation (C) Average (D) F-distribution

Tererem © gafum st =1 adter w5 o fern fmm s 2 2
(A) ufemm (B) HEHEH (C) i (D) F-famm
6.  Which is a type of sample ?
) Quota (B Value (C) Fit test (D) Standard error
FHITFAHAHTE?

(A) T&=m (\@R1) (B) 99 (3F) (C) $RZ= (D) W Ffe

7. Dependent term 15 used in
(A) Average (B)Y Correlation (C) Demand (D) All of these

feUg= 1=t =1 WM BT 2

(A) 3itEa A (B) ®e@Eg®  (C) wimH (D) @&t
8. Rankmg method is a tool of
i Cﬂrrclatmn {I?% Average (C) Mode (D) Probability
(A) Wﬂ (B) (C) =geie (D) =W
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9.  Regression means

{A) Toreturn back (B) Less (C) Tocutdown (D) Value
Heleld
(A) aE AT (B) A (C) =" HAT (D) 73
10. Regression of x upon y can be expressed by
x 1y Tl R gt e 8 7
o 2
(&) x-F=r—(y-) B) r="31
Ty, ¥
(€) r='i{1 _x) (D) None of these / T8 & Frd 78
11.  Which of the following is used for test of goodness of fit ?
(A) Chi-square test (B) t-test
(C) Z-test (D) F-test
fre 8 & 2 w1 e w1 e & o & foo amrft 20
(A) - Tiiem (B) t-diem
(C) Z-wfieqm (D) F-udtem
12.  Which of the following is/are based on probability theory ?
(A) Decision theory (B) Sampling theory
(C) Games theory (D) All of these
fimm o & % | Sra fagia w smafa 2 2

(A) Fvfafage (B) sfwesl fagm(c) mafugd (D) a@f

13. What is the chance of drawing a queen from a pack of 52 cards 7

52 v =1 T G T & = R migsa g 2
1 1
(A) 3 (B) 73
(C) % (D) None nl‘thmc:f'ﬁ'ﬁﬁﬂﬁiqﬁ
14. A bag contains 10 white and 6 red balls. What is the probability of drawing
a whate ball ?
TS & A 10 THe 3 6 T 7 &, T HhE g TG ol e a4 # 2
3 O £ | 2
(A) g (B) 3 © 3 (D) g
15. Probability includes
(A) Simple events (B) Equally likely events
(C) Dependent events (D) All of these
i :
(A) | g (B) =om w9 g
(C) Factfmm g (D) o=t
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16.

17.

18.

19.

20.

21.

22,

8P, can be expressed by

8P, =l ST 1 Heberl 2
8! 8!
{AJ {5_3]! {E:' F
(C) i%}—' (D) None of these / 378 & =hiE &

In how many ways we can arrange 4 books in a book shelf ?

feraa afieri | 20 Us g 9iew 4 4 TS srafiyd # HEd 42

(A) 23 (B) 24 (C) 26 (D) 30

In how many ways can the letters of the word *RIGHT" be arranged ?
(A) 120ways (B) 18 ways (C) 17 ways (D) 100 ways
fere &l ® RIGHT” Weg 3 37870 =1 SHafedd &1 Hehel & 7

(A) 120@8= (B) 18aih (C) 17wlrb (D) 100 7

What 1s the probability of getting either 1 or 3 from the throw of a dice ?

T I 1 G T 1 1 3 WA A FI HET =g 7

I 3 4 6
(A) 3 (B) § ©) 3 (D) 3
Which of the following statistical method may be used for quality control ?
(A) Range (B) Mean (C) Median (D) Mode
orEen FraEm & foe e 1 @ 29 i wifessfn fafa = smm e s wem 22
(A) it (B) =eI (C) merEy (D) ==
Systematic sampling belongs to
(A) quota sampling (B) non-probability sampling
(C) probability sampling (D} None of these
sqafeyd ufaesl #1 58y 2
(A) =T Hmfem (B) Hi-wrafeerdt st
(C) wraferdt Fmafem (D) 37 & %1 7
Non-sampling error occur at the time of
(A) observation (B) approximation
(C) processing of data (D) All of these
Ao 2f2 e T A 2 7
(A) IEEAHA (B) 39T
(C) il &% HEIH (D) & =i
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Directions (Q. 23 to 32) : Use the following information to answer :

In 2000, out of a total of 3500 workers of a factory 2400 were members of a trade
union. The number of women employed was 400 out of which 350 did not belon
to a trade union. In 2005, the number of union workers increased to 3160 of whic

2580 were men. On the other hand, the number of non-union workers fell down to
416 of which 360 were men. In 2012, there were 3600 employees, who belonged

to a trade union and 100, who did not belong to a trade union, of all the employees
in 2010, 600 were women, of which only 16 did not belong to trade union.

fém (W 9. 238 32): 3 & fou FHHHT 1 T -

4 2000 H, H& 3500 Sl HH=E H A 2400 72 IR F HeHd ¥ | Afgen HHEii
<1 e 400 = fowd & 350 22 7fem 3 wafua 78 ot |3 2005 ¥ gfEm wEE 6
HE aga 3160 g e | 2580 W9 9 g9l @, FA-FHEA s § e
firent 416 =3 H 360 759 9 | @9 2012 9 F 3600 FHEHE 9 T g2 g
Hafua & 311 100 51 22 H wafea 781 9 1 2010 4, 51 FH=mE § § 600 vigmn
off, forasl 9 16 22 g 7 gafua 78 ot |

23. In 2000 total number of workers (male + female), who were not members of

trade union

T4 2000 T o1 FHAMET ht T ([F9 + ufeen) i I Fwem A &

(A) 750 (B) 950 (C) 1100 (D) 1200
24. In 2000 total number of male w-:l_nrkers were

4 2000 H Fel TF9 FHATE] =1 HEA Gi

(A) 2200 (B) 3100 (C) 3200 (D) 3400

25.  In 2000 number of male workers, who did not belong to a trade union
a1 2000 3 o8 FHEITE 6 T A I A0 A wHftE @ 9
(A) 750 (B) 950 (C) 1100 (D) 1150

26. In 2000 number of female workers who are member of trade union

a4 2000 H wfzen =i i gen & 2 g Fi om0
(A) 25 (B) 50 (C) 100 (D) 75
27.  In 2000 number of male workers, who are member of trade union
T 2000 H 759 wH=1E B FEn TS g S aem o
(A) 2200 (B) 2350 (C) 2300 (D) 2400
28.  In 2005 number of female workers, who did not belong to a trade union
a4 2005 ¥ wfgen Fd=TiE 1 F@n 7 72 ghga | et A8 o
(A) 36 (B) 56 (C) 39 (D) 86
29. In 2005 number of female workers, who are member of trade umon

T4 2005 ¥ ufeen = € TEn A g I f e B
(A) 380 (B) 3580 (C) 660 (D) 980

30. In 2010 number of male workers, who not belong to a trade union
T4 2010 59 FH=1E1 6l HEA A 72 JfAaA | watd 7@ 2
(A) 84 (B) 584 (C) 3016 (D) 5016
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31.

2.

33.

34.

36.

37,

38.

In 2010 number of female workers, who are member of trade umon

=4 2010 T "fgen FH=niE i T i 7 I F e B
(A) 284 (B) 364 (C) 584 (D) 496

In 2010 number of male workers, who are member of trade union ?

T 2010 H g9 ST 6 6@ w1 28 g @ gt 2

(A) 2896 (B) 3010 (C) 3016 (D) 3200
Positional average 1s/are

(A) Mean (B) Median (C) Mode (D) Both (B)and (C)
TR HEd 2

(A) wre (B) wfemd  (C) @ge (D) (B) 3 (C) gri
Range limit can be expressed as

(A) R=L+8 (B) R=L;S (C) R=L-8 (D) None of these

syoft =ftar gwis < Gendi 2
(A) R=L+S (B) R:L;S (C) R=L-S (D) 3984 %8 7

Which of the following statistical measure 1s based on all observations 7
(A) Harmonic mean (B) Range

(C) Mode (D) None of these

=1 1 1 = w1 wifershia 39wt sl 9T 3eTiE 8 7

(A) Bcq<h AEIh (B) #oft

(C) =g (D) 379 | =8 74

Which of the following can be calculated from a cumulative frequency curve ?
(A) Geometric mean (B) Harmonic mean

(C) Median (D) Mode

= 0 | formeh) S=reft avEwaT 9% | TR T "EAT 2 7
(A) IR (B) ST (C) Hifers (D) =gei®

Which of the following is a relative measure of dispersion 7

(A) Vanance (B) Co-efficient of vanation
(C) Both(A) & (B) (D) None of these

=1 o & = o s o g gefaa 2 2 :

(A) e (B) T fer=rmn

(C) (A) 3 (B)2HI (D) %8 & =ré Fé

The most commonly used measure of dispersion is

(A) Range (B) Standard Deviation
(C) Coetficient of Variation (D) Quartile Deviation
fazaur g =1 g=9 wius 33 2

(A) it (B) wra fa=er

(C) T fa=mm (D) =qYe fa=em

7 Code No. : C-341/2017/Series-A



39.

40.

41.

42.

43.

44.

45.

46.

The model class 1s a class with

A) highest frequenc B) lowest frequenc

EC}% nng]t}rcqucng}r = ED:; None of ttiiqﬁﬂﬂ *
Gulecs e a2 |

(A) ==d =t smEfa (B) ==d fa=

(C) fom Imgf (D) ¥7H 8 *1E

If the first and third quartile i1s 40 and 80 respectively, the median is

afe Taen 3T AT aqd A 40 37 80 B a1 wiferw &

(A) 60 (B) 50 (C) 45 (D) 70
The range based on middle 50% of the observations is called
(A) quartile deviation (B) interquartile deviation
(C) _interquartile range _ (D) None of these

% 50% Heg 92 W IariE Soft i FEd 2
(A) =94 fa=em (B) wed =qye faaem
(C) we =g avft (D) & & Fis 7

For symmetrical distribution which of the following is true ?
(A) Median - Q) =Q3;—Median (B) Mode - Q; = Q3 — Median

(C) Mean - Q; = Q; - Mode (D) None of these

= 4 & F =1 Fefer fam & fou ad 2 2

(A) wifeaem - Q, =Q, —wifeasm  (B) &g - Q, = Q, — Hifeash
(C) 7148 - Q) = Q; — TgeTh (D) 37 8 &1 7@

Arithmetic mean of a qup of 100 items is 50 and of another group of 150
items is 100. What will be the mean of all items ?

(A) 75 (B) 100 (C) 80 (D) None of these

100 FEGHAT = HYE F AFAOTGE 7T 50 & HE A 150 T=GH & 7IE F 100
2, &1 ot T @ e 2 w0

(A) 75 (B) 100 (C) 80 (D) ¥ & IS 74
Given mode = 22 and Median = 214. Find out the average mean.

I = 22 3 Aiferant = 214 T mn 2 | e T5as 1 fifaw |

(A) 21.1 (B) 214 (C) 221 (D) 224

In a moderately asymmetrical distribution, the mode and mean are 42 and
40 respectively. The median is

HeH AEAMHE T EeTeh SN AT AT 42 3 40 &, @ " 2

(A) 39 (B) 40.67 (C) 38 (D) 41.02
Which of the following is a relative measure of dispersion 7

(A) Standard Deviation (B) Vanance

(C) Coefficient of Vanation (D) None of these

T 1 =1 = |1 faser = | wma g ?

(A) T faeem (B) W&l

(C) ot fer=rm (D) 319 & %I 7
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47.

48.

49,

S0.

51,

52.

53.

54.

Arithmetic mean of 98 items is 50. Two items 60 and 70 were left out at the
tume of calculation. What will be the correct mean of all the items ?

98 TG 37T 1 T AT S0 B | oA % wHg & 9wgd 60 3R 70 ® WE ot |
wfi T A1 1 HE W = g ?

(A) 50.2 (B) 50.3 (C) 499 (D) 50.9
Curve of normal distribution is

(A) Symmetrical (B) Perfectly symmetrical
(C) Asymmetrical (D) None of these

o A w aE 2

(A) =i (B) mawfm  (C) mwiE (D) 3 | =rE T4
Mot rejecting null hypothesis, when it is in fact false is
(A) 'll}-'pc Igcrrcrr (B) Type Il error

(C) Two tailed error D) None of these

I TiEeuA 1 At T8 #id, 78 fF g2 anaa i ned 2 .

(A) T lgfe  (B) s@wllgfke (C) Sidsawiafe (D) = a = ad

The level of significance is the probability of committing

(A) Typelerror (B) Typell error (C) Type lll error (D) None of these
1 T T H TR |

(A) ZEulgfle (B) emwlafe () emvinafe (D) s & wiE A

Chi-square test 1s based on

(A) Frequencies (B) Mean
Eﬁ% Standard Deviation (D) All of these
—Te i T AT & |

(A) smafeai  (B) == (C) wre famem (D) 3wt
Yates has suggested a correction in chi~sguare value, when cell frequencies are
(A) large (B) small ( uniform (D) None of these
A7H 3 e -G G H U GUT %1 g3 fom 2, 99 e anean 21
(A) = (B) (C) WM (D) ¥ 4 % T
T-test was developed by o
{ﬁ RA Fisher EB; William Gosset

C) Karl Pearson D) None of these

T-2%2 Tormeh g fasfa R mn an 2
(A) ¥L.u fem (B) RAffmmamez (C) #e fmma (D) 36 9 &5 T8

Which one among the following is a small sample ?

Hﬁg 5 (B) 10 (C) 29 (D) All of these
T H HF 91 = 29
(A) 5 (B) 10 (C) 29 (D) 3ot

Which of the following test is used to test the significance of the coefficient
of association ?

(A) Z-test B) T-test
% Chi-square test _ D) F-test
H 8 A |1 TE BT o TV o Haw o e i & o v fen s e 2
(A) Z-afiegm (B) T-udizquy
(C) hr§—wt wlteqm (D) F-gftem

9 Code No. : C-341/2017/Series-A



56. The total area of a normal distribution between the average value £ 1.96 of
standard deviation is

(A) 95% (B) 99% (C) 100% (D) None of these
U faraed & 3HTHa ged + 1.96 % &ra A= fam &1 Fd aa%d 21 8
(A) 95% (B) 99% (C) 100% (D) %6 @ =1 78
57. Goodness of fit of a distribution 1s tested by
(A) T-test (B) Chi-square test
(C) F-test (D) None of these
T =1 2w 3T Tohe foraes g whiem fpm s 2 2
(A) T-giiegm (B) hr§-TF wliaw
(C) F-afiem (D) &8 ® i Td
§8. F-testisa
(A) Probability test (B) Vanance test
(C) Factor analysis (D) None of these
F-afieqor & v
(A) HamEAn i (B) Ter=ro gfiam
(C) e fagem (D) = & =rd
59. Elastic demand is
(A) greater than one (B) less than one
(C) equal to one (D) zero
S I=EEr =i #rd 2

(A) wHasfas (B) wd®wy  (C) THHIHHE (D) A

60. The nature of cross price elasticity of demand in case of complementary
products will be

(A) positive (B) negative
(C) Both(A)and (B) (D) zero
& IeTG o He H i i FHE-UT5 e & U Bl #
(A) HhTcHSH (B) A%NIcH%
(C) (A) 3l (B) g (D) I
61. What is the nature of elasticity of demand for luxury item like high class fumnitures ?
(A) Unit elastic (B) Highly elastic
(C) Fairly elastic (D) Zero elastic

I3 Avft = R a0 it sngen i oin i e f ywa a2 2
(A) TEedNE (B) 3@@M  (C) F=widM™ (D) @M
62. Which of the following does not influence the individual demand for a
product ?
(A) Price of product (B) Price of close substitute
(C) State of production technology (D) Change of climatic condition

= 1 | %19 3me & foo sofed gin 5 nfem sdi a2 0

(A) 37g i FmHa (B) Tt weenfug i A

(C) IeaTeA earetail i feafa (D) wrae feafa o g2ema
Code No. : C-341/2017/Series-A 10



63.

64,

66,

67.

68,

69,

70.

The elasticity of demand for luxury good is

{A) infimte (B) more than one

(C) less than one (D) equal to one

TRl ARG +h fere 7 Al o 8

(A) 34 (B) "8G (C) THEFT (D) Uk A

Calculate the elasticity of demand when a 60% increase in the price of rice
causes the amount of rice you buy to fall by 120%.

win =it =t o hifsu, st uE i fEra d 60% afe @t 2, e s s
7 g forn o am A F 120% i firree s 2

(A) 2 (B) 4 (C) 6 (D) 8
Which one of the following is not a type of demand 7
(A) Price demand (B) Derived demand
%11; Supply demand (D) Joint demand

i § =19 |1 91T HT TR AE B 7

(A) Fmawin  (B) = Em (C) smfdHin (D) Hga mim

When the income elasticity of demand 1s greater than unity, the commodity 1s

(A) anecessity {E% a luxury

(C) inferior good (D) non-related good

w4 hin 61 3 o v 8 i 2, A g 2

(A) Tsh HAETTRA (B) U= qE-HYA

(C) =t = i =g (D) reatia aeq

If the demand curve is a rectangular hyperbola, elasticity is

(A) 1 (B) 0 (C) infinity (D) less than |
HiT 56 AFART AfdwEed &, 7 & 8

(A) 1 (B)y 0 (C) 3Hd (D) T T FHH

In general, the demand for necessaries i1s relatively

({A) inelastic (B) elastic (C) umity (D) None of these

AU ®9 H, AEEEAIH o o wmde o 2

(A) =@ (B) #=#eR  (C) THd (D) T & T

Price determination is profitable and possible if the two markets have

(A) equal elasticity of demand (B) different elasticity of demand

(C) 1nelastic demand (D) highly elastic demand

Hm Frafon emveerlt aft v 2, ofe @ s d

(A) | H A= FTEE (B) aimFi A= == |

(C) === Jima | (D) FEAMEEE |

The area which lies under the demand curve for a given good measures

(A) marginal utility (B) marginal cost

(C) marginal profit (D) total utility

fave & % s Forg b < 1 G e &

(A) o Iegifa (B) #iHid @Fa

(C) i =y (D) et It

11 Code No. : C-341/2017/5eries-A



T1.

T2,

73.

74,

T3,

76.

T7.

78.

At point of satiety, marglnal utility is

(A) zero Ublll‘l—’ﬂ (C) maximum (D) negative
dfe = faig =, ﬁnmwa‘%m
(A) T3 (B) ¥ATHS (C) wftram (D) =

On the maximum level of satisfaction of good A, the marginal utility of
good A will be

(A) positive (B) negative (C) zero (D) infinity

5] A i Fafe & sfueman = @, 95 A Fi v gt

(A) HHNIHS (B) S=RIIcH= (C) 94 (D) =4

The cqulllbnum level of output for the Eur-:: monopolist is where

(A) MR= (B) MR <MC } MR >MC (D) None of these

glzqa;ﬁmﬁa mmﬂ@ﬂm

(A) MR=MC (B) MR<MC (C) MR>MC (D) &% 7d

Of the following goods, the one where the law of diminishing marginal

utility is least hikely to apply 1s :

Al water (B) cigarettes (C) toothpaste (D) rap music
ﬂ%ﬁ H, 9l uh suH Hme IwEf & fam | e e

Hehdl

(A) 9 (B) famz (C) TUT= (D) 9 = ia
Which of the following is one of the basis for the indifference curve analysis ?
E % [ndra.y:endcnt utility }B} Ordinal utility

al utility D) Diminishing utility
= 4 1 =R T v aRfyaE T3 faverm & foe v amam 2 0
(A) =aa 9= (B) wFoE= 391
(C) wHerya Iaaifima (D) BTEEH I9EifTa
When marginal utility is negative, then total utility
(A) increases (B) decreases (C) is zero (D) is negative

ST Hiid IR TN 8, 9 e
(A) Sgdfig1  (B) wedi g | (C) A% | (D) FHAEFE |
A consumer consuming two dgcmds will be in equilibrium, when the

marginal utilities from both goods are ) N
(A) maximum possible positive (B) minimum possible positive

(C) equa (D) zero
ﬁzq&r?ﬂwﬂﬂaﬁmmmﬂ%ﬂm & gHi aega =t diia

(A) FHIY=dq H9a FHAHS (B) =gAa™ H9d HHAIHS

(C) THM (D) A

Total production will be maximum when

(A) marginal production is maximum (B) average uction 1s maximum
(C) margimnal production 15 zero (D) None of these

el IcaTeA HETH BN, FE

(A) mwmmqnsﬂnﬁl (B) 3Ea Iv1eT HEaH & |

(C) Hiwid I = 2 | (D) %7H | H1E TE

Code No. : C-341/2017/Series-A 12



79.

80.

81.

82,

Selling cost 1s necessary under

(A) pure monopoly (B) perfect competition

(C) 1mperfect monopoly (D) None of these

fershi =T Topmes SgEm AT 2 7

(A) Y& THIfEHT (B) qof oysf

(C) 3TVl TR (D) &8 & IS e

Monopolist can fix

(A) both price and output (B) either price or output

(C) neither price nor output (D) none of these

uEIgERl faa & | 8

(A) A 37 e gl (B) e a1 332

(C) a1 =hima 9 & AR (D) &H ° HE T8

Price determination will always lead to

(A) increase in output (B) decrease in output

(C) no change in output (D) None of these

e faion gan fomm 7 o s 2

(A) FeqreA 3 wgiadl (B) Ieqmed § weE

(C) IeqTed H HI§ TGt 2 | (D) T & =rd 7

Consumers are likely to get maximum variety of goods under

(A) Imperfect competition (B) Monopoly

(C) Perfect competition (D) Ohligopoly

TR AT 1 Tl it gaow fafavm feees w7 e

(A) gl e (B) URIUER

(C) & wieranfirm (D) Femiasn

A shift in supply will have a bigger effect on price than output, if demand is

(A) mccrmc elastic (B) mcumc inelastic
(C) price elastic (D) price inelastic

% SeeTTa IedeA | 3ifie gea W wet wuE i, gfg win @
(A) FETEER (B) H@9eeR (C) Yea @eer (D) Hed Selreer

If the price was fixed below the equilibrium price there would be

(A) excess supply (B) excess demand

{C} equilibrium (D) downward pressure on prices
78 go Hfera gog | =ﬁ% frga e a1, @

(A) ety smgfd 2t (B) eaftss qim &nft |

(C) HdeH & | (D) Hivdi T EEaE gad 2 |

The price mechanism cannot

(A) actasa hlgl‘lﬂl (B) act as an incentive

(C) actasa rationing device (D) shift the demand curve

e = &9 H 19 T8I = Fehel |

(A) frd (B) <A (C) Tmfim feamsm (D) ©in = § 9eeE
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86.

87.

88.

89,

90.

21.

92,

93.

Price determination policy helps in increasing profits in case of

(A) Perfect competition (B) Monopolistic competition
(C) Monopoly (D) Ohgopoly

Tea faato ifa frm g i e aeR Ao i 2 7

(A) ol wfe=ifien (B) usRTieRrl gfaaifm

(C) THITFR (D) IR

When Average Revenue (AR) is constant, Marginal Revenue (MR) is

(A) equalto AR (B) lessthan AR (C) more than AR(D) equal to zero
W4 3itEd 3™ (AR) 379 &, Hiia A4 (MR) 2

(A) ARFatat (B) ARA®H (C) ARE=EE (D) A & a0

Opportunity cost means
(A) costof a homogeneous product (B) cost of the last unit

{C) cost of next best alternative (D) cost of all units produced
HAIHL AN 1 HAeE B
(A) UHEY ITE Fi AE (B) Afq| 31s &1 &P

(C) 37Tet Haaw faeRed =i @nmd (D) =i Ieunfea geTs i @rTa

Which of the following 1s an inverted ‘U’ shaped curve ?

%ﬁg’ Average cost(B) Total cost %C} Fixed cost (D) Marginal cost
§H HH F1 I ‘U PR B aF 2 ?

(A) 3itad @mTa (B) 1 =TE (C) foram @mma (D) Hioma = rmE

Normal profits are considered as

(A) Explicitcosts (B) Implicit costs (C) Social costs (D) Private costs

M AT &1 GH1 041 2

(A) meEemE (B) Ffgasmm  (C) amwnfas @ (D) el @

The advertising cost is included in

(A) Fixed cost (B) Vanable cost
C) Never included in vanable cost (D) None of these

EIUGRIIE
(A) Fraa e
(B) wiEd-E =rm
(C) =i ot wiEd-a rmE o mive 78 # |
(D) ¥4 8§ F18 T
Which of the following is not the stage of product life cycle 7
%ﬁg Introduction (B) Increase (C) Decline (D) Saturation
I T IeATEA 9 Tk T T 8 2 .
(A) 9f== (B) =g (C) fimmEe (D) Hean

Price determination will not be a good approach for

(A) Railway company (B) Electric supply company
(C) FMCG company %D] Mobile company

g ﬁﬂhﬂl_ﬁﬁqﬁi et i FE 2 2 _

(A) T F (B) ez gl

(C) FMCG =t (D) HrETse S

Code Mo, : C-341720017/Series-A 14



94. A firm producing a large number of products will follow the pricing strategy

known as "
A) cost-plus pricin B) differental pricin
E{J{ prudllfut-li?'tﬁ: pricg:in r {'D% price ll:adcr*fhip g
Ush 1 A1 Ferre e B Ieare S 8 98 shiva faien Jifd s @ 36 Fad @
(A) =Hi-vrm wgfam (B) #m gou Py
(C) vigF-wrE g (D) WigE Sz
95. In perfect competition in the long-run there will be
(A) Normal profits (B} Supernormal profits
(C) Production (D) Costs
et T o quf wleifiar # 2 smem
(A) AN (B) HkEmREEN (C) IEA (D) =ra
96. In oligopoly market linked demand curve explains
(A) collusion among rival firms (B) average variable cost curves
(C) short-run average cost curve (D) long-run average cost curve
T aram feiae oin o 591 2
(A) wfegel Fafaan o fusft wm (B) 3itaq afEd=siie simme 9
(C) -1 304 &nE 9% (D) SI-T4 35 ArE 985
97. A firm under perfect competition is the price
(A) Taker (B) Maker (C) Developer (D) NMNone ofthese
T\) % TEd Th
(A) Hed o areft (B) T =/ areft
(C) He formram areht (D) ¥4 8 %1 T

98. When goods in the domestic market are sold at a high price and in the
foreign market at a low price, it is a situation of

?A{ umpin (B) Perfect Competition

C Dligﬂpﬂﬁ-‘ (D) Duopoly

TE FU gl AR H He g 3R fageh aram | A om w fawd 2 gr feufa g

(A) =em$H  (B) iR (C) yenfusr (D) g A

99, Upamshad are books on

( Philosophy (B) Law (C) Religion (D) Yoga
E‘Ti!'—“lﬂ'czgﬁ%%

(A) =T (B) A (C) w (D) am
100. Who founded Pataliputra ?

{A) Udayin (B) Ashoka

C) Bimbisar (D) Mahapadmananda

yreferga =t zefim foma 2 |
(A) Jgm (B) i (C) famtan (D) wemeHweE
101. The first Buddhist Council was held at

(A) Nalanda (B) Gaya (C) Rajgnha (D) None of these
Tael dtg Titeg smEfaa g8 6t
(A) ATt (B) TR (C) TR (D) i & g 7
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102.

103.

104.

105.

106.

107.

108.

109.

The last Mauryan Emperor was

(A) Avanti Varma (B) MNandi Vardhana
(C) Jalok (D) Bnrhadratha
Hifem o mmre o

(A) E=hani (B) F@al  (C) T (D) FEH

Who was the founder of Puhar ?
(A) Kankala (B) Senguttuvan
(C) Mendujeliyan (D) None of these

& %1 HELTT i 91 7

(A) HiFen  (B) HIREA (C) Wgdeflaq (D) 99 | i T8l
*‘Mrchhakatika® was written by

(A) Vikramaditya(B) Sudraka (C) Kalhana (D) Banabhatta

‘TeageReil foraeh gr foran man o ¢

(A) fmmfees (B) &% (C) =gy (D) =g
Amir Khusrau was a famous court poet of

(A) Akbar (B) Mahmud Ghazanvi
(C) Ala-ud-din Khilji (D) None of these
i gor form & gEm wfa 9 2

(A) el (B) WEWg TSHdEl

(C) e faer (D) FH & =1d
Where 1s the famous Virupaksha temple located ?

{A) Bhadrachalam (B) Chidambaram

(C) Hampm (D) None of these
uitg feramey wicy el a2 7

(A) Wg=e  (B) femg (C) el (D) ¥ 8+ T

Bhakt Tukaram was a contemporary of which Mughal Emperor ?

(A) Babur (B) Akbar (C) Jahangir (D) Aurangzeb
Ik eI e qae JUTe & AuETeE 4 2 ‘

(A) & (B) =&t (C) =&hfi (D) TE
Where is the mausoleum of Shershah ?

(A) Sasaram (B) Delh (C) Kalinjar (D) Sonargaon
IIITE 1 Hhat HEl 8 7

(A) HTERM™ (B) feeeht (C) whiefant (D) HETE
Who was called *Chanakya of Maratha Politics™ ?

(A) Baji Rao Il (B) Balaj Viswanath

(C) Nana Pharnabis (D) MNone of these

Rl TTRT TSR T SR R TR 7

(A) =&EE 1] (B) ===t favay

(C) 1 wgdE (D) %79 | H1E
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110.

111.

112.

113.

114.

1135.

116.

117.

The successor of Maharaja Ranjit Singh was

(A) Kharaq Singh (B) Sher Singh
(C) Harihar Singh Malwa (D) NaunihnFSingh
HEnra wreita foa & afm @

(A) @ fim (B) In fiim

(C) =i fem wreran (D) e ffa

Who was associated with Ryotwari settlement of Madras ?

{A) Malcom (B) Metcalfe (C) Munro (D) Elphinstone
HETH * [AaaTs] SHaed] & /1Y HiA I 837 41 ?

(A) WiewHH (B) Hewes  (C) T (D) wedieA

Who among the following is known as *Martin Luther of India’ ?
(A) Swami Dayanand Saraswat (B) Raja Rammohan Roy

1(-;1':-21 Swami Vivekananda (D) Swami Shraddhanand
fra v wafa g wm S 2 2

(A) waTHl game Ho (B) T THATEA 19

(C) =it faa=re (D) =t HgFe

Where did the ‘“Tebhaga Movement® occur in 1946 ?

(A) Bihar (B) Punjab (C) Gujarat (D) Bengal

1946 R “THIT HATGIe FE 3T 91 2

(A) far (B) b= (C) T (D) =

Who led the Salt Satyagraha with Mahatma Gandhi ?

(A) Anme Besant (B) Mndula Sarabhai

(C) Muthu Lakshmi D) Sarojim Naidu
HRTH 1 % H1Y THF Fearig =l 3ETs fhe o6 2

(A) Tiisme  (B) g EAMIS (C) gy «@edt (D) FOaH TEg

By which name/names is our country mentioned in the constitution ?

EF&} India and Bharat (B) India and Hindustan

C) Bharat only (D) India, Bharat and Hindustan
YA AR A HI RA A AW A T Y ?

(A) sfogan 3t ure (B) 3fvegan 3

(C) *heet 9T (D) sfoEan, wra

The word *Hindus™ in Article 25 of the Constitution of India does not include
(A) Buddhists (B) Jains (C) Sikhs D) Parsis

HRd & A9 % A=ug 25 4 veg ‘fag’ wmﬁaﬂqﬂ’f’i 7

(A) dig (B) (C) fawa (D) W

The Directive Principles of State Policy are
A) Justiciable
B) Non-Justiciable

EC% Only same of the provisions are justiciable

D) None of these

T ifa = o fagia 8

(A) =Eif=d (B) FEEI=A
(C) T% TEYH a2 | (D) &9 o 18 FE
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118.

119.

120.

121.

122,

123.

124,

All the executive powers in Indian Constitution are vested with

(A) Prime Mimster (B) President

(C) Parliament (D) Council of Mimsters
ﬁﬂ?ﬁﬂﬁﬁ'{lﬂﬁﬁﬁ?ﬁfﬁlﬂ&ﬁﬂlﬁﬁﬂ%l o
(A) TEHEE (B) rgafa (C) @%5g (D) wfaEs

Who can imitate imlpca::hm::nt proceedings against the President of India ?
(A) Only Lok Sabha (B) Only Rajya Sabha
(C) Either House of the Parhament (D) Any Legislative Assembly

AT < Tgafa $1 faeg # weifiem gE Fahd 8 7

(A) el SiRET (B) I T=aEq

(C) Tme %1 iE i 78 (D) i3 ot fearmasm
Finance Bill of Indian Government 1s presented in

(A) Upper House (B) Lower House

(C) Legislative Council (D) Legislative Assembly

arA TR 1 faw e 2l waga e s 22

(A) T=IEWl (B) wreREyT (C) faumufeg (D) faumeaw
When was the Wealth Tax first introduced in India ?

WA 3 g TEel H9f H e IE o w2

(A) 1948 (B) 1957 (C) 1976 (D) 1991

How many times did the President of India declare National Emergency so
far ?

(A) Never (B) Onlyonce (C) Onlytwice (D) Thrice

31 T A & Tgata A frat = adg sme Rufa gifm i g 2

(A) 78  (B) HadwwaEn (C) fgbd@ian (D) dREm

In India, agriculture income is calculated by

(A) Input method (B) Output method

(C) Expenditure method (D) Commodity flow method
mﬁﬁﬁagﬁwﬁmﬁaamﬁmﬁ%? s

(A) (B) AT

(€) gﬁﬁ? (D) =g yae fafa

Rourkela Steel Plant was set up with the assistance from

(A) USSR (B) West Germany (C) U.S.A. (D) UK.

Toraehl Uee 3 wahen e 599 w=niua e mn an 2
(A) USSR (B) 9fFmmsdft (C) US.A. (D) UK.

. New Capital issue is placed in

(A) Primary market (B) Secondary market
(C) Grey market (D) Black market
T Fftest 1 el wriua famn s 2 2

(A) wufrs a@m (B) fedfms sem (C) Temem (D) I "1
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126.

127.

128.

129.

130.

131.

132.

133.

134,

Open Market Operations of RBI refer to buying and selling of

(A) Commercial Bills (B) Foreign Exchange

(C) Gold (D) Government Bonds

RBI % et a1 e formeht e ot skl dafifa @ 27

(A) faem (B) fageh vwmsms (0) g (D) HTHH! FhgH
Who propounded the ‘The Market Law” ?

(A) Adam Smith (B) LB. Say (C) T.R. Malthus (D) Dawvid Ricardo
aram fm ?

(A) tenforg (B) 343 (C) #.3m. gweum (D) sfae frarei

The Tropic of Cancer does not pass through

(A) India (B) Egypt (C) Mexico (D) Iran
Teht@! Tal | e 6 e 8

(A) 9TE (B) fim (C) ufeae (D) $=

The most abundant metal in the Earth’s crust 1s

(A) Magnesium (B) Calcium (C) Iron (D) Aluminium
gt <t Ikt Hag # e e # foen aredt uig #

(A) it (B) Sfeam (C) =& (D) vegfufTam

The world’s most active volcano is

(A) Cotopaxi (B) Fujiyama (C) Vesuvius (D) None of these
fava =1 w=g afira

(A) HlRMFH  (B) $hmmn () fglmm (D) w6 A BRI

The Great Victonan Desert 1s located at

({A) Australia (B) India (C) Egypt (D) North Africa
e faeeiiay weeys frm 2

(A) #i=fam  (B) WA (C) fim (D) I 3R
V-shaped valley 1s formed by

(A) wind (B) glacier

(C) underground water (D) niver

V-3 1 @1 a4t 2

(A) BTH (B) g ® (C) i@ w=d (D) T H
Diego Garcia is in
(A) Arabian Sea (B) Bayof Bengal (C) Indian Ocean (D) Gulf of Aden
St nfdan 2
(A) rdtaEgEd (B) sediEdi (C) fiewemmmd (D) e smm i
The World’s highest waterfall is in
(A) Vencruela (B) U.S.A. (C) Brazil (D) India
fava =1 g8 S FewaE #
(A) dHquend  (B) ZWEUH () @@ H (D) WRAH
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135. Most of the weather phenomena take place in

(A) Stratosphere (B) lonosphere (C) Mesosphere (D) Troposphere
sifirsrim domhm gzamd 2 &

(A) E2@himt  (B) #@AWEA (C) WEEEE (D) IMe6hER
136. On the clear winter might earth is cooled by

(A) Conduction (B) Radiation (C) Convection (D) Condensation

wdl =1 |1 Tf 1 g form gen & w2 A 2 2

(A) =TeH (B) fafem (C) Hae (D) Ha=A
137. The trade winds are strongest during

(A) Winter (B) Summer

(C) Rainy scason (D) Autumn scason

=T 2= gEd wiferE FAR

(A) =féai (B) it

(C) =i =g (D) WOt Fq
138. Siderite is an ore of

(A) Copper (B) Tin (C) Aluminium (D) Iron

e (e saes 2 2
(A) W (B) fem (C) vegfufem (D) i@

139, The highest grade and best quality coal 1s

(A) Anthracite (B) Lignite (C) Peat (D) Bituminous

HEH Fd w3 A= oE1 F HE 8

(A) T¥wEe  (B) femmse (C) e (D) faefirs
140. India is the world’s largest producer of

(A) Rice (B) Wheat (C) Millet (D) Cotton

RA fava = form <9 w1 AeR FE IS 2 2

(A) WA (B) (C) = (D) =
141. Nathu La pass is in

(A) Sikkim (B) Bhutan

(C) Arunachal Pradesh (D) Jammu and Kashmir

TY-e g B

(A) fafeem (B) YEH#

(C) ZToI=d weol § (D) v 3R e |
142. Project Tiger was launched in

Yieiae T HE IE BT 41 ?

(A) 1969 (B) 1970 (C) 1972 (D) 1973
143. The first nuclear power plant was installed in

(A) Maharashtra (B) M.P. (C) Rajasthan (D) U.P.

TaH TEer! AR Hel Tad wal Trfun gan a1 ?
(A) HETTE (B) Hegwed (C) T=eaH (D) I A
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144. Decibel is the unit of

(A) speed of light (B) intensity of sound
(C) intensity of heat (D) None of these
eftae frahi s 2 7
(A) W= i afa (B) ==t i e
(C) Fem1 <t e (D) % 8 =i T8
145. The best conductor of heat among the following is
{A) Alcohol (B) Mercury (C) Ether (D) Water
faddsm s maed S=m 9% 8 :
(A) ¥ewiEE  (B) Wl (C) s (D) "

146. Pitch is sensation which depends upon
(A) Frequency (B) Amplitude (C) Wavelength (D) Velocity
T U TeAT & A1 sniE 2 .
(A) 3w (B) wefiggg® (C) mRE® (D) W

147. The image formed on the retina of a human eye is

(A) wvirtual and inverted (B) wvirtual and erect

(C) real and erect (D) real and inverted

HIE 73 = A9ed W idtad @901 8

(A) a3 39 (B) amamdt 3 =i

(C) drafas 3w =ien (D) ar=Afa 3R I

148. Filament of electric bulb is made of

(A) Tungsten (B) Nichrome (C) Lead (D) Aluminium

Fea 1 fheii= =91 81 2

(A) TRZAH (B) Fwmu (C) @4 (D) vegffEe =
149. A mixture of carbon monoxide and hydrogen is called

(A) Producer gas (B) Water gas
(C) Natural gas (D) None of these
HEA HHGEES AR EESI9H & 4V @i FEd 8

(A) I9RFH T (B) dieiE (C) Wl (D) T & HiE T
150, Ordinary glass is

(A) Sodium silicate (B) Calcium silicate
(C) Calcium and sodium silicate (D) Copper silicate

W i 7

(A) Hifeam fafese (B) fraam fafase

(C) Ffeaam s difsan fafemre (D) o fafeese
151. Sourcing of milk is due to
(A) Protozoa  (B) Bacteria (C) Virus (D) Nematode
ufFmamamg@ame ?
(A) WEEsm (B) = (C) atH (D) e
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152,

153.

154.

133.

156.

157.

158.

159,

Which part of plant yields opium ?

(A) Leaves (B) Frut (C) Flower (D) Root

e T I T1 I AR 2R 2

(A) T (B) e (C) &= (D) %

The 2017 UN climate change conference (COP23) was held in which country 7
(A) France (B) U.S.A. (C) India (D) Germany
form o § 2017 UN Feiisiie <=5 Si-604 (COP23) &8 ot 7

(A) W4 (B) US.A. (C) WA (D) =t

Who has been appointed the new chairman of Bombay Stock Exchange 7
(A) Sethurathnam Ravi (B) S. Ramadorai

(C) Prem Kumar (D) Sudhakar Rao

Sied ek TR < T4 e o w9 ° fondt Fragen foben e 2
(A) HyneFmifa (B) wd. WERE  (C) TR (D) U TE

Who has won a National Championship Crown at the 61* National Shooting
Championship 2017 ?

(A) Shreyasi Singh (B) Rajeshwari Kuman

(C) Shagun Chowdhary (D) Soumya Gupta

6149 Fore sfén Aferafirg 2017 %1 Feme Afeafg ame fmea a2

(A) = fam (B) Traiwadl FAT

(C) = =erdh (D) e e

Which country hosted the 4™ Global Conference on sustained eradication of
child labour ?

(A) Germany (B) South Africa (C) New Zealand(D) Argentina

form gm 3 “Toges Tl 3T TTges Sat W 4o At wimem i Hear 6 2
(A) SR (B) faw s (C) =gefiere (D) =T
Which one of the following countries has declared Yoga as sports activity 7
(A) Saudi Arabia(B) Iran (C) Israel (D) Turkmemstan
=1 9 & form w1 3 71 =1 Werghs =i g wifee fea 2

(A) @3 sifemn(B) $m (C) Foae (D) TR
Which country has launched the world’s first fully electric cargo ship ?

(A) China (B) Sﬂuth Korea (C) Malaysia (D) Singapore
form 2w 3 fava i waw veelt Qi et wTerETES AR OE 1R 7

(A) =t (B) afEm (C) wetforn (D) farmir
The only temple of *Manu” in India is at

(A) Kullu (B) Manali (C) Sarahan (D) Mahan
A § 0 1 Ut Afet 2

(A) Foel, (B) WA (C) =E (D) weEm
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160,

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

The area known as the valley of *honey and milk” is

(A) Kulluvalley (B) Chamba valley (C) Spiti valley (D) Dun valley
form e =t e SR F O FAM A AT AR 7

(A) Fee ol (B) w=iwd@  (C) FEfawd (D) @ud
‘Musk Deer’ farm is located at

(A) Kandaghat (B) Summerhill (C) TaraDevi (D) Kufn
R g7 w R A R 7

(A) ®eER  (B) FHEW  (C) awed (D) FHi

‘“Cheni Pass” 1s located in district

(A) Kullu (B) Mandi (C) Solan (D) Chamba
=t gl frm et d R 2 7
(A) Fee], (B) #AvEl (C) @i (D) =

The valley Chandra Bhaga is called as

(A) Pattan valley(B) Lingti valley (C) Chandra (D) Kokhsar
<IZHIT Hé1 1 HEd

(A) @ (B) e (C) =3 (D) whiEat
Who was the first lady Governor of Himachal Pradesh ?

{A) Prabha Rao (B) V.5. Rama Devi

(C) Leela Seth (D) Sarojimi Naidu

femraer wem i yeeh afgen et = o 2

(A) w1 T (B) #tum wedt (C) dfiends (D) =l amg

He could not cut the grass today because the handle of the machine
broken a few days ago.

(A) has (B) will have (C) shall (D) had
Antonyms of the word ‘Irrevocable” is

(A) Sohd (B) Fast (C) Transiional (D) Interruption
Meaning of the idiom “To stick to one’s colours’ is

(A) to refuse to yield (B) to be patriotic

(C) to be notorious (D) to be straight forward
e o= B

(A) HHT (B) 3 (C) =M (D) Hat
RULETRICE]

(A) e (B) e (C) weraR (D) afufex
v sRaraaE e ¢

(A) =giile  (B) =@ (C) #= (D) e
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